









First Lutheran of Bothell Bell Tower Cost Proposal

Steel Structure	1	LS	14,760
Concrete Footings	6	\$300/yd	1,800
Concrete Slab	120	\$15/SF	1,800
Benches	3	\$750/each	2,250
Contractor Labor	102	\$48/hr	4,896
Equip. Rental	1	LS	1,200
Electrical	1	LS	2,100
P & OH	0.12		3,456
Signage	4	\$125/EA	500
Relocate CU	1	LS	1,500
Bell Restoration	1	Donated	0
Sub Total			34,262
WA State Sales Tax		9.5	3,289
Total Construction			37. 551.94

First Lutheran of Bothell Bell Tower Cost Proposal

Permitting		3,300
Landscaping	LS	1,500
A & E Design Fees	LS	3,420
Contingency	15.8	7,228
TOTAL PROJECT COST		\$53,000

Process

• April 15

- July 30
- August 30
- September 15
- February 2017

- \$25,000 begin construction process (Permit drawings, documents, engineering)
- Send out for bids
- award job
- Break ground if we raise remaining \$28,000
- Dedication

